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import numpy as np

import random

N = 36

kuro = 10

ransu = random.sample(range(1,N+1), k=N)
banmen = np.ones((6,6))

foriin range(36):

nl = int(ransulil/6)

if n1==6:
nl1=0

n2 = ransuli]l % 6

if i < kuro:
banmen[nl][n2] = -1

import matplotlib.pyplot as plt
plt.imshow(banmen, cmap='gray’)

plt.show()
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Import numpy as np

import random

o Ah B
uro = 30

ransu = random.sample(range(1,N+1), k=N)

banmen = np.ones((6,6))
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def make_table reversi(kuro):
Fﬁ EE— ransu = random.sample(range(1,N+1), k=N)
H] = banmen = np.ones((6,6))

foriinrange(36):

nl = int(ransulil/6)
Import numpy as np

if n1==06:
import random 11=0
import pandas as pd n2 = ransuli] % 6
N =36 if i < kuro:
banmen[n1][n2] = -1
tmp = []
for jin range (6):
foriin range (6):
tmp.append(banmenli][j])
ROR—I (T 9, df = pd.DataFrame([tmp])

return df
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df siro = pd.DataFrame(index=[], columns=[])

df kuro = pd.DataFrame(index=], columns=[])

foriin range(3):
df siro = pd.concat([df_siro,make_table reversi(10)],axis=0)

df kuro = pd.concat([df_kuro,make_table reversi(26)],axis=0)

df siro = df siro.assign(winner=1)

df kuro = df_kuro.assign(winner=-1)

df all = pd.concat([df kuro,df siro], axis=0)




